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ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ! 

Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ, ЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ (Ѐ ЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀ-

ЀЀЀ — ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ).  

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 5-7 ЀЀ. — 2,5 ЀЀЀЀ, ЀЀЀ 8 

ЀЀ. — 3 ЀЀЀЀ, ЀЀЀ 9 ЀЀ. — 3,5 ЀЀЀЀ, ЀЀЀ 10-11 ЀЀ. — 4 ЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ.  

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ ЀЀЀЀЀ — Ѐ ЀЀЀ ЀЀ ЀЀЀЀ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ: 

610005, Ѐ. ЀЀЀЀЀ, 5, Ѐ/Ѐ 1026, ЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀ, Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀЀЀ, Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀ, 

Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀ, Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 7 

ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ 0 Ѐ ЀЀ ЀЀЀЀЀЀЀ 7, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

2. ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀЀ, Ѐ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ). Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀ ЀЀЀЀ 4, ЀЀ ЀЀЀЀЀЀ – ЀЀ ЀЀЀЀ 3.  

3. ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ •. Ѐ ЀЀЀЀЀЀЀ, ЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀ: 

ЀЀЀЀЀЀ Ѐ Ѐ  Ѐ Ѐ Ѐ  Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ  
7 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

6 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
5 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

4 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

3 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

1-2 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

0 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
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ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ, ЀЀЀЀ: 

� ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ; 

� ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀ; 

� ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 

� ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ), ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ. 

4. ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ-

ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ «ЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀ (ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ). ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀЀ Ѐ Ѐ.Ѐ. 

5. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ 

ЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ). ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ.  

6. ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀ. ЀЀ ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

7. ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀ ЀЀЀЀЀ 5 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. Ѐ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 1 Ѐ, ЀЀЀЀЀЀЀ (ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀ) ЀЀЀЀЀЀ 

30 ЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 20 ЀЀ. 

ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀ ЀЀЀ. ЀЀЀЀЀЀ. ЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀ 50 ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 30 ЀЀ. ЀЀЀЀЀЀЀЀЀ 20-ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ. ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀ 30 ЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 10-

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀ 20 ЀЀ. 

• ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀ: ЀЀЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀ⋅9 = ЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀ-ЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀ 112⋅9 = 1008 — ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ ЀЀ 

ЀЀЀЀЀЀ 111. ЀЀЀЀЀЀ, Ѐ = 1. ЀЀЀЀЀ 111 Ѐ 110 ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀ ЀЀЀ 

ЀЀЀЀЀ — ЀЀЀЀЀЀ. ЀЀЀЀЀЀ, Ѐ = 0. ЀЀЀЀЀЀЀ, ЀЀЀЀЀ 9Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 1, ЀЀЀЀЀЀ 

Ѐ = 9. ЀЀ ЀЀЀЀЀ ЀЀЀ = 109 ЀЀ ЀЀЀЀЀЀЀЀ: 109⋅9 = 981. 

• ЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ = 1, Ѐ Ѐ = 9, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ: 

2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀ ЀЀ ЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ? ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀ. ЀЀЀЀ 4 ЀЀЀЀ, ЀЀЀЀ — 9, ЀЀЀЀ — 12. ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 

3+5 = 8 ЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ 8 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀ 4 ЀЀЀЀ, ЀЀЀЀ — 3⋅4 = 12 ЀЀЀ, Ѐ ЀЀЀЀ — 12–3 = 9 ЀЀЀ. 

• ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 3 ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ! 

ЀЀЀЀЀЀ 4. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀ 160 

ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ? ЀЀЀЀЀЀЀ-

ЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ. 324 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 160:4 = 40 ЀЀЀЀЀЀ. 

ЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 2 ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 40:2 = 20 

ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ — 20–2 = 18 ЀЀЀЀЀЀ. ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ 18⋅18 = 324 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀ: 

4 ЀЀЀЀЀ. 
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ЀЀЀЀЀЀ 5. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ 20 ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 300, Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ-

ЀЀ ЀЀЀЀЀЀ 100? ЀЀЀЀ ЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ. 

ЀЀЀЀЀ. ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀ Ѐ Ѐ ЀЀЀЀЀЀЀЀ ЀЀ 14-Ѐ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 100. ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ ЀЀ 14-Ѐ ЀЀЀЀЀЀ 200. ЀЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ Ѐ 15-ЀЀ ЀЀ 20-Ѐ ЀЀЀЀЀЀ 300–200 = 100. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ Ѐ 

14-ЀЀ ЀЀ 20-Ѐ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 100, Ѐ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 100. ЀЀЀ 

ЀЀ ЀЀЀЀЀЀ. 

• ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 6 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀЀ-

ЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ+ЀЀЀ+ЀЀ+Ѐ = 10968. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. 9999+888+77+4 = 10968. 

♦ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀ ЀЀЀЀ, Ѐ = 9, ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀ 8888, 

Ѐ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ «ЀЀ ЀЀЀЀЀЀЀЀЀЀ» ЀЀЀЀ ЀЀ 10000. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀ ЀЀ 9999, ЀЀЀЀЀЀЀЀ ЀЀЀ+ЀЀ+Ѐ = 969 (*). ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ Ѐ = 8, ЀЀЀЀЀ 

ЀЀЀ ЀЀ ЀЀЀЀЀЀ 777, Ѐ ЀЀЀ+ЀЀ+Ѐ ЀЀЀЀЀЀ 900. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (*) 

ЀЀ 888, ЀЀЀЀЀЀЀЀ ЀЀ+Ѐ = 81, ЀЀЀЀЀЀ Ѐ = 7 Ѐ Ѐ = 4. 

• ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

Ѐ ЀЀЀЀЀ ЀЀЀЀЀ «Ѐ» (ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 5×5? (ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ.) ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ. 6. ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀ Ѐ 

ЀЀЀ ЀЀЀЀЀЀ 28 ЀЀЀЀЀЀ, Ѐ Ѐ ЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀ 25. 

• ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀ. ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀ 15 ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ — ЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ? ЀЀ-

ЀЀ ЀЀ — ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀ ЀЀЀ — ЀЀЀ-

ЀЀЀЀЀЀ, ЀЀЀЀЀЀ. 

ЀЀЀЀЀ. ЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ — ЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ: ЀЀЀЀЀЀЀ ЀЀЀЀЀ — ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ — ЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀ. ЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ — ЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 4 ЀЀЀ 7 ЀЀЀЀЀЀ Ѐ 3 ЀЀЀ 8 ЀЀЀЀЀЀ. 
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• ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀ: ЀЀЀЀЀ 

ЀЀЀЀЀЀ 900 Ѐ ЀЀ ЀЀЀЀЀЀ Ѐ 900 Ѐ ЀЀЀЀЀ, Ѐ ЀЀЀЀ — 100 Ѐ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 100 Ѐ ЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ) ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀ 4. Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 3×3 ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ, ЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 18, ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 18, Ѐ ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 2×2 ЀЀЀЀЀ 25. ЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ? ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ. 

ЀЀЀЀЀ. 10. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀ a, b, c, Ѐ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ — ЀЀЀЀЀЀЀ 1, 2, 3. ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ a Ѐ b 

ЀЀЀЀЀ 18+18 = 36. ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ a2, b2, a3 Ѐ b3 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 2×2, Ѐ ЀЀЀЀЀ ЀЀ-

ЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀ 25. ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ a1 Ѐ b1 ЀЀЀЀЀ 36–25 = 11. ЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 11 ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ c1 Ѐ c2, c3 Ѐ b3, a3 Ѐ a2. 

ЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 

11⋅4 = 44. Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 18⋅3 = 54. ЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ 54–44 = 10. 

♦ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ b1 Ѐ c1 ЀЀЀЀЀ ЀЀЀЀЀ 11. ЀЀЀЀЀ ЀЀЀЀЀЀЀ, 

ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ b1 ЀЀЀЀЀ 11+11–18 = 4. ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 4 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ c2, b3 Ѐ 

a2. ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 7. ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ. 

• ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ: 3 ЀЀЀЀЀ. ЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀ 10. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ: «ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀ». ЀЀЀЀЀЀ ЀЀЀЀЀЀ: «ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ 

ЀЀЀЀ». ЀЀЀЀЀЀ ЀЀЀЀЀЀ: «ЀЀЀ ЀЀ — ЀЀЀЀЀ». ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ — 

ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ, ЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀ — ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ: 

ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀ, Ѐ 

ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ: ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. ЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀ — ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ — ЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 
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♦ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀ, Ѐ ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ. 

• ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, Ѐ ЀЀЀЀЀЀ — 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ: 2 ЀЀЀЀЀ. ЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ — ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 7 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. Ѐ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 13 ЀЀЀЀЀЀЀЀ, Ѐ Ѐ ЀЀЀЀ — 

ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 17 ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ Ѐ ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀ. ЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 1 ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ 

13 ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀ 17 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

• ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ 3 ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀ? 

ЀЀЀЀЀ. –3/2. ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ-

ЀЀЀ ЀЀЀЀЀ x. ЀЀ ЀЀЀЀЀЀЀ x = 3x+3, ЀЀЀЀЀЀ x = –3/2. 

• ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: 5 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: 

«ЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ 5, ЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀ 7». 

«ЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀ 20, ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ 9». 

«ЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀ 12, ЀЀ ЀЀ ЀЀЀЀЀЀ 21». 

ЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, — ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀ. (ЀЀЀЀЀ «ЀЀ ЀЀ Ѐ, ЀЀ ЀЀ Ѐ» ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ, ЀЀЀЀ ЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ, ЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ Ѐ Ѐ). 

ЀЀЀЀЀ. 84. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ 5. ЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀ 9, Ѐ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀ 20. ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ 20, ЀЀ ЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀ 21, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 12. ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀ 12, ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 5. ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 7. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀ 7 Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 9, ЀЀЀ 49. ЀЀ 

ЀЀЀЀЀ 49 ЀЀ ЀЀЀЀЀЀЀ ЀЀ 12 Ѐ ЀЀЀЀЀЀ 21. ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ-

ЀЀ 20 Ѐ ЀЀЀЀЀЀЀ ЀЀ 12. ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀ 7 Ѐ 12, ЀЀЀ 84. 

• ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ: 3 ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 7, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ: 2 ЀЀЀЀЀ.  

ЀЀЀЀЀЀ 4. ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀ 20 ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ — ЀЀЀЀ ЀЀЀЀ. ЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀ ЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ, ЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ-ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ-
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ЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ: ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ 3/2 = 1,5. 

♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀ 6 Ѐ 8 ЀЀЀЀЀЀЀ. 

• ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀ 5. ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: a, b, Ѐ, d. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀ 3 ЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ab Ѐ bc. ЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀ a Ѐ c ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ b. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀ b, Ѐ Ѐ ЀЀЀ Ѐ ЀЀЀЀЀ a = ab/b Ѐ c = bc/b. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ bd Ѐ 

ЀЀЀЀЀЀ d = bd/b. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀ 

ЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ 

Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 6 Ѐ 35, ЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 2, 3, 5, 7 ЀЀ ЀЀЀЀЀЀ 1, 6, 1, 35. 

♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 8 ЀЀЀЀЀЀ, 3 ЀЀЀ 9 ЀЀЀЀЀЀ Ѐ 4 ЀЀЀ 10 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 4 ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, — ЀЀ 3 ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 8 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀ-

ЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀ Ѐ 

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 2,5 ЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ x ЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 2x, Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ — 5x, ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

• ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ «ЀЀЀЀЀЀЀЀЀЀЀЀ» ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ: 1 ЀЀЀЀ. 

ЀЀЀЀЀЀ 2. Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ABC ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ AD Ѐ BE, ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ H. ЀЀЀЀЀЀЀЀЀ, ЀЀЀ HD = HE. ЀЀЀЀЀЀЀЀ, ЀЀЀ AC = BC. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ CHD Ѐ CHE ЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ CH Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ HD Ѐ HE. ЀЀЀЀЀЀЀЀЀЀЀЀЀ, CD = CE. ЀЀ ЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ACD Ѐ BCE, ЀЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀЀ, ЀЀЀ AC = BC.  

• ЀЀЀЀЀЀЀЀ, ЀЀЀ CD = CE, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ: 2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ — ЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀ 15% ЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ? 
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ЀЀЀЀЀ. ЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, Ѐ Ѐ ЀЀЀЀЀ ЀЀЀЀ — Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ 5 ЀЀ. 

ЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ Ѐ 900 Ѐ ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ, Ѐ Ѐ ЀЀЀ-

ЀЀ ЀЀЀЀ — Ѐ 850 Ѐ ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 

900+4000+850 = 5750 Ѐ = 5,75 ЀЀ. ЀЀЀ ЀЀЀ 5,75 : 5 = 1,15, ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀ 15% 

ЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀ 15% ЀЀЀЀЀЀ. 

♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀ 6 ЀЀЀЀЀЀ Ѐ 4 ЀЀЀ 7 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 1 ЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ: 6 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 11×11 ЀЀЀЀЀЀЀЀ 17 ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 1×6. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 1×6 ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ 11 ЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 16 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 16 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ. 

♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 9–11 ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: a, b, c, d, e, f, g. ЀЀ ЀЀЀЀЀ ЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 

ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀ 1). ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀ 5 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ab Ѐ bc. ЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀ a Ѐ c ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ b. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀ b, Ѐ Ѐ ЀЀЀ Ѐ ЀЀЀЀЀ a = ab/b Ѐ c = bc/b. ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀ d, e Ѐ f. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ fg Ѐ ЀЀЀЀЀЀ g = fg/f. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 

ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ Ѐ 

ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀ ЀЀЀЀЀ Ѐ ЀЀ ЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 6. 

ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ. 

♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 7 ЀЀЀЀЀЀ, 3 ЀЀЀ 9 ЀЀЀЀЀЀ Ѐ 4 ЀЀЀ 10 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 4 ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ-

ЀЀЀ, ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, — ЀЀ 3 ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀ ЀЀЀЀЀ 9 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ a, b, c, ЀЀЀ a > b > c Ѐ b
2
 < a

2
 < c

2
 

ЀЀЀЀЀ. ЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, a = 2, b = –1, c = –3. 

♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 2 ЀЀЀ 10 ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 1 ЀЀЀ 11 ЀЀЀЀЀЀ. 

• ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ «ЀЀ» ЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ): 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ-

ЀЀЀ «ЀЀЀЀЀ» ЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 10 ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

«ЀЀЀЀЀ», ЀЀЀЀ ЀЀЀЀЀ 46 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ? 

ЀЀЀЀЀ. 40%. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀ» ЀЀЀЀЀЀЀ x% ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀ x+0,1(100–x) = 46. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ 0,9x = 36, ЀЀЀЀЀЀ x = 40. 

• ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: 4 ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: a, b, c, d, e, f. ЀЀ ЀЀЀЀЀ ЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 

ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀ 1). ЀЀЀ ЀЀЀ ЀЀ 4 ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ? 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ab Ѐ bc. ЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀ a Ѐ c ЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ b. ЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ b, Ѐ Ѐ ЀЀЀ Ѐ ЀЀЀЀЀ a = ab/b Ѐ c = bc/b. ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ d, e Ѐ f. 

♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 7 Ѐ 8 ЀЀЀЀЀЀЀ Ѐ 4 ЀЀЀ 10 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ: 

1 ЀЀЀЀ. 

ЀЀЀЀЀЀ 4. ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ABC, ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ: ABC1 Ѐ BCA1 — ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ CAB1 — ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ A1, B1 Ѐ C1 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀ ABC. 

ЀЀЀЀЀ: 60°. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ C1AB1 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ BAC ЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ B1CA1 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ACB. ЀЀЀЀЀЀЀ ∠AB1C1 = ∠BCA, Ѐ ∠CB1A1 = ∠BAC. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ AB1C1, 

AB1C Ѐ CB1A1 ЀЀЀЀЀ 180°, ∠ABC = ∠AB1C = 60°.  

• ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ C1AB1 Ѐ BAC, B1CA1 Ѐ ACB, ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ: 3 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 11×11 17 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 1×6. ЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀ. Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 4 ЀЀЀ 8 ЀЀЀЀЀЀ. 
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♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 10 ЀЀЀЀЀЀ. 

• ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ: 1 ЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 10 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀ 15 ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ — ЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀ 6 ЀЀЀЀЀЀ. 

♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 4 ЀЀЀ 7 ЀЀЀЀЀЀ Ѐ 3 ЀЀЀ 8 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀ: ЀЀЀЀЀ 

ЀЀЀЀЀЀ 900 Ѐ ЀЀ ЀЀЀЀЀЀ Ѐ 900 Ѐ ЀЀЀЀЀ, Ѐ ЀЀЀЀ — 100 Ѐ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 100 Ѐ ЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ) ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀ: 0 ЀЀЀЀЀЀ.  

ЀЀЀЀЀЀ 2. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ a, b, c, ЀЀЀ a > b > c Ѐ 1/a > 1/b > 1/c? 

ЀЀЀЀЀ. ЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ a, b Ѐ c ЀЀЀЀ ЀЀЀ, ЀЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀ. ЀЀ ЀЀЀЀ ЀЀЀЀЀ x Ѐ y ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ Ѐ x > y, ЀЀ 1/x < 1/y. 

♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 1 ЀЀЀ 9 Ѐ 11 ЀЀЀЀЀЀЀ. 

• ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ABCD ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ O. ЀЀ ЀЀЀ-

ЀЀЀЀ BC ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ M, ЀЀЀ BM = 2CM. ЀЀЀЀЀЀ DM Ѐ AB ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀ Q, Ѐ ЀЀЀЀЀЀ OM Ѐ CD — Ѐ ЀЀЀЀЀ P. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ PQ Ѐ BD ЀЀЀЀЀ-

ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ AB = a. ЀЀЀЀЀЀЀ, ЀЀЀ, ЀЀЀ ЀЀЀ MB || AD, ЀЀЀЀЀЀЀЀЀЀЀЀ BMQ 

Ѐ ADQ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ MB/AD = MB/BC = 2/3, ЀЀЀЀЀЀ BQ = 2a. ЀЀЀЀЀ ЀЀЀЀЀ 

N — ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ BC. ЀЀЀЀЀ ON || CP, Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ MPC Ѐ MON ЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ MC/MN = 2, ЀЀЀЀЀЀ CP = 2ON = a Ѐ DP = DC+CP =2a = BQ. ЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ BDPQ ЀЀЀЀЀЀЀ DP Ѐ BQ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ. ЀЀЀЀЀЀ, 

BDPQ — ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀ PQ || BD. 

ЀЀЀЀЀЀ 4. ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: a, b, c, d, e, f. ЀЀ ЀЀЀЀЀ ЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 

ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀ 1). ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀ 4 ЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀ 9 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀ ЀЀ ЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ-

ЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 6, ЀЀ 

ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ. 

♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 7 Ѐ 8 ЀЀЀЀЀЀЀ Ѐ 3 ЀЀЀ 9 ЀЀЀЀЀЀ. 
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• ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 4 ЀЀЀЀЀЀ, ЀЀЀЀЀ-

ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ — ЀЀ 3 ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 19×19 14 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 2×10. ЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 2×10 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ Ѐ ЀЀЀ ЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ѐ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 

ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀ 

(19–10)/2 = 9/2, ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀ 19/2, ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀ 13 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 9 ЀЀЀЀЀЀ. 

• ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ: 1 ЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 11 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ a, b, c, ЀЀЀ a > b > c Ѐ tga < tgb < tgc? 

ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, a = 3π+π/6, b = 2π+π/4, c = π+π/3. 

♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 1 ЀЀЀ 9 ЀЀЀЀЀЀ Ѐ 2 ЀЀЀ 10 ЀЀЀЀЀЀ. 

• ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀ: 6 ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀЀЀЀ y = ax
2
+bx+c Ѐ y = dx

2
+ex+f ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ a Ѐ d ЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ax
2
+bx+c = dx

2
+ex+f ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀ a = d, ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (b–e)x+(c–f) = 0, ЀЀЀЀ-

ЀЀЀ ЀЀЀ b–e ≠ 0 ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀ b–e = 0 — ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ 

c–f ≠ 0, Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ c–f = 0. 

• ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (b–e)x+(c–f) = 0 ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ: 1 ЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: a, b, c, d, e, f. ЀЀ ЀЀЀЀЀ ЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ 

ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀ 1). ЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀ 4 ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀ 9 ЀЀЀЀЀЀ. 

♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 7 Ѐ 8 ЀЀЀЀЀЀЀ Ѐ 4 ЀЀЀ 10 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ: 1 ЀЀЀЀ. 
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ЀЀЀЀЀЀ 4. ЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ 1 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 14-ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 14-ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ. 
21 2 28 21 14 2 7 2 7

321 2 30 21 15 2

+ + −
= =

+ +

 ЀЀЀ 
5

6
. 

ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ 14-ЀЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ — ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀ). 

ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

x ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ x 2 , ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 

x
3
/6, Ѐ ЀЀЀЀЀ 14-ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 1–8⋅(x

3
/6) = 1–4x

3
/3 (*). 

ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀ x Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ x 2 , ЀЀЀЀЀЀ 1 = 2x+x 2  Ѐ 

x = 1/(2+ 2 ). ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ x = 1/2. ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ x Ѐ ЀЀЀЀЀЀЀ (*), ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ. 

• ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ: 

1 ЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ: 

3 ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ: 3 ЀЀЀЀЀ. ЀЀЀ-

ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ: 5 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ! ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀЀЀ, ЀЀ Ѐ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 11×11 17 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 1×6. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 9 ЀЀЀЀЀЀ. 

♦ ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 10 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀ «ЀЀЀЀЀ» ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ: 1 ЀЀЀЀ. 

ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ 

Ѐ. ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 27 ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 9-4. 

ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ «ЀЀЀЀ Ѐ ЀЀЀЀЀЀ» ЀЀЀ 5 ЀЀЀЀЀЀ, ЀЀЀЀ, 2011: 5-4. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: 7-3. 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 1998/99 ЀЀЀЀЀЀЀЀ ЀЀЀЀ: 9-2. 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 2002 ЀЀЀЀ: 10-3. 

ЀЀЀЀЀЀЀЀ: 5-5, 7-1, 7-2, 8-1, 9-1, 11-1, 11-2. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 2014/15 Ѐ. 

ЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ): ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

(ЀЀЀ — ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ (ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ, ЀЀЀЀЀ 21, 10 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀ (ЀЀЀЀ, 

11 ЀЀ.). 

ЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ): ЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀ-

ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (Ѐ. ЀЀЀЀЀЀ-ЀЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀ Ă1, 10 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀ Ѐ ЀЀЀЀ Ѐ. ЀЀЀЀЀЀЀЀЀЀ, 10 ЀЀ.), ЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 10 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀ (Ѐ. ЀЀЀЀЀЀ-

ЀЀЀЀЀЀ, ЀЀЀЀЀ, 11 ЀЀ.), ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 11 ЀЀ.). 

ЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ): ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀ, ЀЀЀЀЀ 21, 7 ЀЀ.), 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, 6 ЀЀ. — ЀЀ 7 ЀЀ.), ЀЀЀЀЀ 

ЀЀЀЀЀЀ (ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀ, 10 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ, 

11 ЀЀ.). 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

(ЀЀЀЀ, 6 ЀЀ. — ЀЀ 7 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀ, ЀЀЀЀЀ 21, 7 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀ, 

7 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀ, ЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀ — 

ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

(ЀЀЀ — ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀ (Ѐ. ЀЀЀЀЀЀ-ЀЀЀЀЀЀ, ЀЀЀ-

ЀЀЀЀЀ Ă1, 10 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, 11 ЀЀ.). 

ЀЀЀЀЀЀЀЀЀЀ 2: ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ 2014 – ЀЀЀЀЀЀЀ 2015) 

1-8 ЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀЀЀЀЀ Ѐ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ XVIII ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ 32 ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 25 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ 10-11» 
ЀЀЀЀЀЀ 7 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-9» — 3 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

29 ЀЀЀЀЀЀ – 6 ЀЀЀЀЀЀЀ: ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ XLIV ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ 66 ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 31 ЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-8» 
ЀЀЀЀЀЀ 4 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-7» — 8 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-6» — 4 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

6 – 8 ЀЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-5-1» ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ, «ЀЀЀЀЀ-5-2» Ѐ «ЀЀЀЀЀ-5-5» — ЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ, «ЀЀЀЀЀ-5-3», «ЀЀЀЀЀ-6-
2» Ѐ «ЀЀЀЀЀ-4» (ЀЀЀЀЀЀ Ѐ ЀЀЀЀ 5 ЀЀЀЀЀЀЀ) — ЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ. 

20–26 ЀЀЀЀЀЀЀ: XV ЀЀЀЀЀЀЀЀЀ (ЀXIII ЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ-
ЀЀЀЀЀЀ 78 ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 30 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-8-1» ЀЀЀЀЀЀ 7 ЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, «ЀЀЀЀЀ-8-2» — ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 
«ЀЀЀЀЀ-8-3» — ЀЀЀЀЀЀЀЀ 3-4 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-7» — 3 
ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-6-1» — 7 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 
«ЀЀЀЀЀ», «ЀЀЀЀЀ-6-2» — ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀ», ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-5» — 
8 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀ». 

8 ЀЀЀЀЀЀЀ (ЀЀЀ 6-8 ЀЀ.) Ѐ 1 ЀЀЀЀЀ (ЀЀЀ 9-11 ЀЀ.) ЀЀЀЀЀЀЀ: ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 17 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀ: ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀ-
ЀЀ II ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ  — ЀЀЀЀЀЀЀЀЀ III ЀЀЀЀЀ-
ЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀ  — ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 6 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ  — ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ. 
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19 ЀЀЀЀЀ: 29554 ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-ЀЀЀЀ "ЀЀЀЀЀЀЀ-2015". 

22 ЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀ XXXVI ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (Ѐ. ЀЀЀЀЀЀ). ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ. 

25-28 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ V ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀ» Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ 173 ЀЀЀЀЀЀЀЀ 6-8 ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-
ЀЀ 53 ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀ ЀЀЀЀЀ 9 ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ II 
ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ, ЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ  — ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

10 – 12 ЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ-
ЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-5-1», «ЀЀ-
ЀЀЀ-6-1» Ѐ «ЀЀЀЀЀ-6-3» ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ. 

12 ЀЀЀЀЀЀ: Ѐ Ѐ. ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ XIII ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ 21 
ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀ II ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀ-
ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ — 
ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

23-29 ЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 11 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀ 9 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ 
ЀЀЀЀЀЀ. 

3–28 ЀЀЀЀ: XXXI ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 431 ЀЀЀЀЀЀЀЀ, Ѐ 
Ѐ. Ѐ. 314 ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ), ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ (ЀЀЀ-
ЀЀ), ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀ-
ЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ), ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀ-
ЀЀЀЀЀЀЀ, ЀЀЀ, ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀ), ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀ. 

29 ЀЀЀЀ – 1 ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀ ЀЀЀ XI ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ. Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ, 
Ѐ. ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ), ЀЀЀЀЀ ЀЀЀЀЀЀЀ 
(ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ), ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

3 – 11 ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ 
ЀXV ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ). ЀЀ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ «ЀЀЀ ЀЀЀЀ-
ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ». 

20 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ», Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
704 ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 544 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 

9 – 11 ЀЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-5-2» Ѐ «ЀЀ-
ЀЀЀ-6-1» ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ, «ЀЀЀЀЀ-5-1», «ЀЀЀЀЀ-5-3», «ЀЀЀЀЀ-5-4» Ѐ «ЀЀЀЀЀ-6-
3» — ЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ, «ЀЀЀЀЀ-5-5», «ЀЀЀЀЀ-6-4» — ЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ. 

27 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ. ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ), 
Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 510 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 475 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀ ЀЀЀЀЀЀ XXXVI ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 2014/15 ЀЀЀЀЀЀЀ ЀЀЀЀ, 46 
ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

 Ѐ.Ѐ.ЀЀЀЀЀЀЀ, 2015. 


